Unit 3 Extra Practice!
1) Graph the following function:
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2) Name one input value that cannot be evaluated for f.

3) Evaluate f(-160). Show work.

4) Evaluate f(50). Show work.

5) Graph the following function:
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6) Evaluate g(0), or explain why it cannot be evaluated.

7) Evaluate g(4). Explain how you know which equation to use.

8) Write down the equation for the following piecewise function h (obviously include all restrictions):
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9) Evaluate h(-100), h(-2), h(2), h(6), h(8), h(9), h(100) if possible. The ones where it is not possible, explain why not.
10) Jack thinks h(4) = 3. Is he correct? Explain.

Below is a table that tells you how much a typical restaurant charges per person for a nice dinner. Note that the more people you bring, the more expensive it is, because they usually give you better service or a private room for large parties.
	Number of people attending a dinner
	Cost per person

	1 – 20 
	$25

	21 – 40 
	$35

	41 – 60
	$45

	60 – 100
	$60

	Over 100
	$100


11) Make a table for the total cost of a banquet between 1 and 110 attendees.

12) Graph this information. 

13) Find the equations and the domain restrictions for each cost break. (Hint: How can you find the slopes quickly without doing any calculations?)
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